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ABEQ =TFO = conmbution Por univ
PEQ =400, 000 + (¢35 - £10)
DEQ = §,000 univs

DRI PA®
IR = 26 *x %000 unts
TR = ¢ 380, 000

Q) TC = TFC * NG _
TC =¢300,000 + ($10 * g 000 unrs)
1C =£3%0, 000
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) MOS = lewel of ourpukr — BEQ
MOS T = MOS = BEQ

- micSing Aigure Q
200 = Qurputy - ©00
KOO | = QAU
SO0 uniks of Play- b

— miISSing figure o
MOS = GSO0L- |30
MOS = QGO
S0 units, of Tredd- |y

— MISSINg figue O
MOS T = 00! = 900
MOC T = GO for Play- It
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) Tread- 1t has a boiter MOG than Play- It when meosured

as moge (I00k and @OT SPeGHOY. Play-1t has oy
05 in QUi g (300 unils Ve 390 unks for

Tead- b)Y, In NS case, W's berter D uce e fick
MEN0d | DECONSE  WeIY MAFNG | 0 COMPanson | ACKOSG
differtnt ndusties (hiting YOO and toye). SO read- W hog
o Ry VTs,




